### A-PLUS WELL SERVICE, INC.

P.O. BOX 1979 FARMINGTON, NM 87499 505-325-2627 • FAX: 505-325-1211 ORIGINAL INVOICE

August 5, 2004

**New Mexico Oil Conservation Division** 

**Aztec District** 

Invoice #3410 PO #04-199-000613

Aztec, NM 87410

1000 Rio Brazos Road

. .....

SEP 2004

SEP 2004

OLCOROLDIV.

DIST. 3

1 of 2

Rig #9

Horseshoe Gallup #33 Well API #30-045-60050

Pluggi	ng Cost	Summary:
--------	---------	----------

ı ıuggıı	ig Cost o	ruttitiai y.					
ID#	Date	Item Description	Units	U	nit Cost	E	xtension
Work	ver Rig,	Travel and Supervision:					<u>.</u>
A1	8/2/04	Contractors Supervisor / Cementer		\$	250.00		N/C
A1	8/3/04	Contractors Supervisor / Cementer	1.0	\$	250.00	\$	250.00
A1	8/4/04	Contractors Supervisor / Cementer	1.0	\$	250.00	\$	250.00
A2	8/2/04	Crew travel, one way	1.0	\$	112.00	\$	112.00
A2	8/3/04	Crew travel, round trip	2.0	\$	112.00	\$	224.00
A2	8/4/04	Crew travel, round trip	2.0	\$	112.00	\$	224.00
A3	8/2/04	Shallow Rig	1.50	\$	140.00	\$	210.00
A3	8/3/04	Shallow Rig	9.75	\$	140.00	\$	1,365.00
A3	8/4/04	Shallow Rig	9.75	\$	140.00	\$	1,365.00
Ceme	nting Ser	vices:					
B1	8/2/04	Cementing equipment on location		\$	450.00		N/C
B1	8/3/04	Cementing equipment on location	1.0	\$	450.00	\$	450.00
B1	8/4/04	Cementing equipment on location	1.0	\$	450.00	\$	450.00
В3	8/4/04	Cement, 75 sxs Type III = 83.9 sxs Type II	83.9	\$	10.50	\$	880.95
В3	8/4/04	Cement, set marker, 10 sxs III = 13.2 sxs Type II	11.2	\$	10.50	\$	117.60
Wireli	ne Servic	es:					
C1	8/4/04	Wireline unit on location, used	1.0	\$	250.00	\$	250.00
C3	8/4/04	Perforate up to 3 squeeze holes at 150'	1.0	\$	300.00	\$	300.00
Packe	rs, Retair	ners & Casing Scrapers:					
D3	8/3/04	Cement retainer, tubing set, 4-1/2"	1.0	\$	900.00	\$	900.00
D4	8/4/04	Casing scraper rental, 4-1/2"	1.0	\$	250.00	\$	250.00
Works	trings &	Miscellaneous Rentals:					
E1.1	8/3/04	Workstring rental, 2-3/8", feet	1208	\$	0.12	\$	144.96
E6.3	8/3/04	Companion flange rental, 5-1/2"	1.0	\$	50.00	\$	50.00
E14	8/3/04	Waste fluid container, days used	2.0	\$	30.00	\$	60.00
		•		•		•	

## A-PLUS WELL SERVICE, INC.

P.O. BOX 1979 FARMINGTON, NM 87499 505-325-2627 • FAX: 505-325-1211

August 5, 2004						
New Mexico Oil Conservation Division						2 of 2
Aztec District Invoice #3410						
	00 Rio Braz					Rig #9
AZt	Aztec, NM 87410					
	seshoe Ga   #30-045-6	allup #33 Well 50050				
		and Miscellaneous Services:				
F1.a	8/2/04	Unit #141, Haul workstring & float to location	1.0	\$74.00	\$	74.00
F1.b	8/3/04	Unit #141, Move workstring into position;	2.0	\$74.00	\$	148.00
F1.c	8/4/04	Unit #141, Hold workstring in position;	2.0	\$74.00	\$	148.00
F4	8/3/04	Float #98, rental, carry workstring;	2.0	\$15.00	\$	30.00
F3.d	8/9/04	Unit #19, haul rods and tubing to A+ yard;	1.5	\$50.00	\$	75.00
F6.a	8/3/04	Unit #134, Haul one load water to location	2.0	\$50.00	\$	100.00
F6.b	8/4/04	Unit #134, Haul one load water to location	2.0	\$50.00	\$	100.00
F6.c	8/3/04	Unit #155, Haul waste fluid to location;	2.0	\$50.00	\$	100.00
F6.d	8/4/04	Unit #155, Hold waste fluid, then unload	2.0	\$50.00	\$	100.00
F7.a	8/11/04	Backhoe, Clean up location, remove trash & junk,	2.0	\$50.00	\$	100.00
F2.a	8/11/04	Helper for above	2.0	\$20.00	\$	40.00
F11	8/4/04	P&A Marker	1.0	\$ 120.00	\$	120.00
Third	Party Cha	arges:				
G1	8/3/04	Mo-Te Inc, Invoice #60304	1.0	\$366.00		
		hot oil rods and tubing	Total	\$366.00		
Salva	Third Party Handling Charge Salvage		8%	\$29.28		\$395.28
Salva S1	~	oing, paraffin inside, 42 joints	1302	\$0.80	10	t4 044 CO\
S2		' Rods, 52 pieces	130 <i>2</i> 52	\$0.80 \$2.00	(;	\$1,041.60) (\$104.00)
	2000 010		JL	φ2.00		(φ104.00)
		<b>通</b> 农业的发生实现		TOTAL	\$	8,238.19
			TAX	6.375%	\$	525.18

**THANK YOU** 

ok tol Phyment
Okal Plum
Ohal Thur
9-14.04

submitted in lieu of Form 3160-5

# UNITED STATES DEPARTMENT OF THE INTERIOR BUREAU OF LAND MANAGEMENT



Sundry Notices and Reports on Wells

		5.	<b>Lease Number</b> BIA #14-20-603-734
1.	Type of Well Oil Well	6.	If Indian, All. or Tribe Name Navajo
2.	Name of Operator	7.	Unit Agreement Name Horseshoe Gallup Unit
	Vulcan Minerals and Energy, C/O NMOCD Aztec District Office	8.	Well Name & Number
3.	Address & Phone No. of Operator 1000 Rio Brazos Road, Aztec, NM 87410 505-334-6178	9.	HSGU #33 API Well No. 30-045-60050
4.	Location of Well, Footage, Sec., T, R, M	10.	Field and Pool Horseshoe Gallup Unit
	660' FNL and 417' FEL, Section 29, T-31-N, R-16-W,	11.	County & State San Juan County, NM
12	CHECK APPROPRIATE BOX TO INDICATE NATURE OF NOT	TICE, REPORT, OTHER D	
	Type of Submission Type of Action	Change of Plans	
		New Construction	
		Non-Routine Fracturing	
	Subsequent Report Flugging Back Casing Repair	Water Shut off	
	Final Abandonment Altering Casing	Conversion to Injection	
	Other -	Conversion to injection	
8/4	Purchase Agreement: 04-521-0700028; Purchase Do  204 MOL and RU. Relief line to steel pit. NU BOP. SDFD.  206 Open well, no pressure. RU hot oil unit. Pump 50 bbls h  207 LD 50 - 5/8" rods and pump. ND wellhead. NU BOP and  208 and PU 38 joints A+ workstring and round-trip 4-1/2" casin  209 No pressure. TIH with tubing and set 4-1/2" DHS cemen  200 circulation and circulate well clean with 18 bbls of water  201 held OK. Sting into retainer and pump fluid below retained  202 #1 with CR at 1208', spot 25 sxs Type III cement (33 cf) in  203 Gallup interval. TOH and LD tubing. Perforate 2 sque  204 bradenhead and circulate with 4 bbl of water. Pump add  205 Pump additional 8 bbls of water to circulate BH annulus of  206 cf) pumped down 4-1/2" casing from 150' to surface, circulate and cut off wellhead. Found cement at surface in  208 casing and install P&A marker.  209 H. Villanueva, NMOCD; W. Ashley, Nevajo Minerals; and  200 Contractor  200 William F. Clark	not water down tubing and a diflange, test. LD 42 joints ag scraper to 1208'. Shut in tretainer at 1208'. Sting of the retainer at 150'. Estainer at 150'. Estainer at 150'. Estainer at 150's expected at 150's	circulate out casing. 2-7/8" tubing. Tally well. out of CR. Establish 500# for 5 minutes, out of retainer. Plug to 846' to isolate the blish circulation out circulate out casing. Type III cement (66 denhead. ND BOP. 10 sxs cement to fill
(TI	nis space for Federal or State Office use)		
AF	PROVED BY Title		Date
CC	ONDITION OF APPROVAL, if any:		

22883

**A - PLUS WELL SERVICE**P.O. BOX 1979 • FARMINGTON, NM 87499
505-325-2627 • FAX (505) 325-1211

Rig No	Date <u>08/02/04</u> Day MDN
Well Name Horseshor GALLUP UNIT # 33	Company PLAYA MINERALS & ENERGY
	<del></del>

FROM	то	DESCRIPTION OF OPERATION
2:30		ROAD RIC AND EQUIPMENT TO LOCATION.
	3:30	SPOT RIG. RIG UP.
3:30		NIPPLE UP FLOWLINES TO PIT. BLAD WELL DOWN
3430		UNSEAT PUMP. LAY DOWN RUD SUBS AND 2-5/8" RODS
	4:00	SECURE WALL.
4:00		TRAVEL TO YARD

Fuel & Motor Oil	Water Hauled
Rental Equipment	Cement Retainers
Cementing	
Wireline	

CREW	NAME	UNIT#	MILEAGE	HOURS
Supervisor	WIKE HIGDON			
Operator	TRAVIS BEGAY			2.5
Helper	LORENZO RUDRIGUEZ			3.5
Helper	ADAN REYES			3.5
Helper	ELNIS WILLETO			3 €

N/C

Trainee RCI Form - 0801114A

# A - PLUS WELL SERVICE P.O. BOX 1979 • FARMINGTON, NM 87499 505-325-2627 • FAX (505) 325-1211

Rig No\_

Date 08/03/04 Day TUE

Well Name HORSESHOE GALLUP UNIT # 33

Company PLAYA MINERALS & ENERGY

10:15   OPEN WELL (NO )   RIG UP MOTE!   10:15   TBC AND CIRCULAT	EQUIPMENT, HELD PRE-JOB SAFETY MILETING, PRESSURE) HOT OIL UNIT, PUMP 50 BBLS HOT WATER (240°) DOWN
5:45 6:45 TRAVEL TO LOS 6:45 7:15 START RIG AND 7:15 OPEN MELL (NO RIG UP MOTE! 10:15 TBC AND CIRCULAT 10:15 11:30 LAY DOWN 50-5/8	EQUIPMENT, HELD PRE-JOB SAFETY MILETING, PRESSURE) HOT OIL UNIT, PUMP 50 BBLS HOT WATER (240°) DOWN
5:95 6:95 TRAVEL TO LOS 6:95 7:15 START RIG AND 7:15 OPEN WELL (NO RIG UP MOTE! 10:15 TBG AND CIRCULAT 10:15 11:30 LAY DOWN 50-5/8	EQUIPMENT, HELD PRE-JOB SAFETY MILETING, PRESSURE) HOT OIL UNIT, PUMP 50 BBLS HOT WATER (240°) DOWN
6:95 7:15 START RIG AND 7:15 OPEN WELL (NO RIG UP MOTE 1 10:15 TBC AND CIRCULAT 10:15 II:30 LAY DOWN 50-5/8	EQUIPMENT, HELD PRE-JOB SAFETY MILETING. PRESSURE) HOT OIL UNIT, PUMP SO BBLS HOT WATER (240°) DOWN
10:15 OPEN WELL (NO RIG UP MOTE !  10:15 TBC AND CIRCULAT  10:15 II:30 LAY DOWN 50-5/8	PRESSURE) HOT OIL WUT. PUMP SO BBLS HOT WATER (240") DOWN
10:15 TBC AND CIRCULAT 10:15 LAY DOWN 50-5/8	HOT OIL WATE PUMP SO BBLS HOT WATER (240") DOWN
10:15 TBC AND CIRCULAT 10:15 11:30 LAY DOWN 50-5/8	110/ 10/ 0000
10:15 11:30 LAY DOWN 50-3/8	ED ONT CSG RIG DOWN HOT ON THE
	"RODS 2/2" X1/2" x 6 7 um?
11:30 12:00 NIPPLE DOWN W	ELLHEAD. RIG UP FOR TBC (2%")
12:00 NIPPLE UP BOP	COMPANION FLANGE AND TBG HEAD. 27/2 PIPERAMS.
1:00 TEST RAMS.	
1:00 2:00 LAY DOWN 42 51	5-278" 10 RD 7BG.
2:00 2:30 CHANGE OVER TO	2 3/8" TBG TOOLS
2:30 PICK UP AND TH	1/ 241/2" CSG SCRAPER AND 38 JTS - 23/8" A. PLUS
WORK STRING. EC	07
4-300 SESO TOH/TBC AND SCR	APER
4:30 SECURE WELL	
4:30 5:30 TRANEL TO YARD	/ TRL #87
	7
AENRY VILLAURENA	/NMOD ON LOCATION
WALLACE ASHLEY /A	JAVAJO MIHERALS ) ON
CARY SHAY/AIAVAI	O MINERALS LOCATION

Fuel & Motor Oil

\_ Water Hauled

Rental Equipment

\_ Cement Retainers \_

Cementing \_\_\_

Wireline

ON DAY

CREW	NAME	UNIT#	MILEAGE	HOURS
Supervisor	MIKE HIGDON	*21		
Operator	ADAN REYES	出19		12.0
Helper	LORENZO RODRIGUEZ			12.0
Helper	CHRIS MONTANEZ			12.0
Helper			<del>-                                    </del>	12.0
Trainee				

RCI Form - 0801114A

22885

Rig No\_

Date 08/04/04 Day WED

Well Name HORSESHOE GALLUP UNIT # 33

93/4 la

Well Nam	e <u>HOKSE</u>	SHOE GALLUP UNIT \$ 33 COMPANY PLAYA MINERALS & ENERGY					
FROM	то	DESCRIPTION OF OPERATION					
5:30	5:95	LOAD RIC SUPPLIES					
5:45	6:45	TRAVEL TO LOCATION					
6:45	7:15	START RIGAND EQUIPMENT. HELD PRE-JOB SAFETY MELTING.					
7:15		OPEN WELL (NO PRESSURE)					
	8:00	TIH/ 41/2 DAS CRT AND TOG. SET CRT @ 1208. STING OUT OF CRT.					
8:00		CIRCULATE HOLE CLEAN / 18 BBLS FRESH WATER. PRESSURE TEST CSC					
	<del>   </del>	TO SOOPS! HELD PRESSURE 5 MIN. NO PRESSURE LOSS. BLED PRESSURE					
	9:00						
9:00	10:30	PLUC "1- MIX AND PUMP 25 5xs (33x73) CMT FROM 1208 TO TOCA 896"					
10:30	_	PLUC "1- MIX AND PUMP 25 5xs (33x73) CMT FROM 1208 76 TOC@ 896					
	1	DISPLACE,					
11:00	11:45	LAY DOWN TRG AND STINGER.					
11:45		RIG UP WIRELINE. RIH/WIRELINE PERFORATE 2- 11/12 BI-WIRE SHOTS @					
	12:15	150' POH/WIRELINE. RIG DOWN WIRELINE.					
12:15		Pump IBBL FRESH WATER DOWN CSC. PRESSURED UP TO 900 PSI. BLED					
		PRESSURE OFF. PLMP 3 BBLS WATER DOWN BRADENHEAD. TO CIRCULATE					
		AT CSG. PUMP 8 BBLS WATER DOWN CSG TO CIRCULATE CLEAN OUT					
		RADENHEAD (RECOVER 7BBLS 012) WAIT 15 MM. PUMP IBBL WATER DOWN					
	1:30	CSG. CIRCULATED IBBL WATER OUT BRADEN HEAD.					
1:30		PLUC \$2 - MIX AND PLAN 50 5x5 (66 FT3) CAT DOWN ESC TO CIRCULATE					
	2:00	GOOD CAT OUT BRADENISEAD.					
2:00	2:30	NIPPLE DOWN BOP.					
2:30	2/20	DIC OUT AND CUT OFF WELLHEAD. CMT @ SURF IN 1/2 'CSC					
7.7-	3:30	PLACE PLA AMARKER / 10 SXS CMY @SURF IN 85/8 CSC					
3:30		The state of the s					
4:30	<i>5</i> :30						
		MENRY VILLANUEVA/NMOCO					
		WALLACE ASHLEY/NAVASO MINERALS ON LOCATION					

Fuel & Motor Oil	Water Hauled	
Rental Equipment	Cement Retainers 11/2" DHS @ 1208	
Cementing Pluc#1- 25 sxs	PLUC 02-50 3x5 PLA MARKER /10 3x5	
. 11/ 11	1/ >	

Wireline 2-11/12" 81-WIRE SHOTS @ 150 (MA)

phit Owe Oax

CREW	NAME	UNIT#	MILEAGE	HOURS
Supervisor	MIKE HIGDON	#21		
Operator	ADAN REYES	419		12.0
Helper	LORENZO RODRIGUEZ			12.0
Helper	CHRIS MONTANEZ			12.0
Helper	JASON BENALLY			12.0
Trainee				

### A-Plus Well Service, Inc.

P.O. Box 1979, Farmington, NM 87499 505-325-2627

Date:	Truck#:	141	
Event: #1	From: Hcu #25 To: HGu #33	Hours	
Start:	What: HAUL FLOAT AND PIT TO LOCATION		-12
08/02/09			P1.00
Stop:	Charge to: NMOcD	1.0	•
Event: #2	From: H6u #33 To:		F1.2 F1.5 F1.C
Start:	What: STANDBY RIG UP TRUCK		£1.5
08/63/04			1 .
Stop:	Charge to: NMOCD	2.0	
Event: #3 Start:	From: HGu #33 To:		- 1 6
Start:	What: STANDBY RIG WP TRUCK		61.0
08/09/04			
Stop:	Charge to: NMOCD	2.0	
Event: #4	From: To:		
Start:	What:		
			:
Stop:	Charge to:		
Event: #5	From: To:		
Start:	What:		
Stop:	Charge to:		
Event: #6	From: To:		
Start:	What:		
		_	
Stop:	Charge to:		
Event: #7	From: To:		
Start:	What:		
Stop:	Charge to:		
Event: #8	From: To:		
Start:	What:	_	
Stop:	Charge to:		
	Driver: MIKE NIGDON	5.0	
Diesel:	Helper	1.0	
Oil:	NM MILES: CO MILES: UT MILES:		
Remarks:			
-			
··	· · · · · · · · · · · · · · · · · · ·		
		RCI Form - 080158A	

RCI Form - 080158A

**A-Plus Well Service, Inc.**P.O. Box 1979, Farmington, NM 87499
505-325-2627

Date: <u>9-9:04</u>

Truck #: 87

Date: <u>0 /</u>	Truck #:_     Truck # Truc	MARKET AL	-
Event: #1	From: HGV # 25 To: Farmingt	Hours	
Start: 5:00	What: 43 joints #25 50, 5/8 rods	1/2	_
8-5-04			,
Stop: 6.30	Charge to: NM OCD		3 hrs
Event: #2	From: \$ 456U#SZo: At Yard.	1/2	300)
Start: 6!30	What: 42 joints 2 1/8 10rd. 50 5/8 rods	1.72	
8-4-04			
Stop: 8 ! 0 0	Charge to: NM OCD		
Event: #3	From: To:		
Start:	What:		
Stop:	Charge to:		
Event: #4	From: To:		(12/
Start:	What:		(F3.4)
			レン
Stop:	Charge to:		
Event: #5	From: To:		
Start:	What:		
Stop:	Charge to:		
Event: #6	From: To:		
Start:	What:		
Stop:	Charge to:		
Event: #7	From: To:		
Start:	What:		
Stop:	Charge to:		
Event: #8	From: To:		1 + 19
Start:	What:		11-4-11
			(Jun 127
Stop:	Charge to:		(fut 1/87
		· <sub> </sub>	
	Driver: Travis Begay		a hu
Diesel:	Helper Crew		5
Oil:	NM MILES: UT MILES:		1 1/2 hrs
Remarks:	No problems		11.1.1
	NMOCD #564#33		1/2
			, –
	Harl turing (rods to		
	7/2000		
	A+ yard.		
	ya ca		
L			

**A-Plus Well Service, Inc.** P.O. Box 1979, Farmington, NM 87499 505-325-2627

Date:	Truck	#: <u>134</u>
Event: #1	From: HGu #25 To: NGu #33	Hours
Start:	What: HAUL I LOAD FRESH WATER STANDBY	
08/03/04		
Stop:	Charge to: NMOCD	2.0
Event: #2	From: NGu *33 To:	
Start:	What: HAUL I LOHO FRISH WATER STANGEY	
08/04/04		
Stop:	Charge to: NMOCD	2.0
Event: #3	From: To:	l l
Start:	What:	
Stop:	Charge to:	
Event: #4	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #5	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #6	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #7	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #8	From: To:	
Start:	What:	
Stop:	Charge to:	
	Driver: MIKE HIGDOW	4.0
Diesel:	Helper	
Oil:	NM MILES: CO MILES: UT MILES:	
Remarks:		
····		<del> </del>
	1	l i

A-Plus Well Service, Inc. P.O. Box 1979, Farmington, NM 87499 505-325-2627

Date:	Tru	ick#: <u>155</u>
Event: #1	From: HGu #25 To: HGu #33	Hours
Start:	What: STANDBY FOR DISPOSAL	
08/03/04		
Stop:	Charge to: NMOCD	2.0
Event: #2	From: HGu # 33 To:	
Start:	What: STANDBY FOR DISPOSAL	
08/04/04		
Stop:	Charge to: NMDCD	2.0
Event: #3	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #4	From: To:	
Start:	What:	
Stop:	Charge to:	
Stop.	Charge to.	
Event: #5	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #6	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #7	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #8	From: To:	· I · · · ·
Start:	What:	
Stop:	Charge to:	
	Driver: MIKE HIGDON	4.0
Diesel:	Helper	
Oil:	NM MILES: CO MILES: UT MILES:	
Remarks:		

**A-Plus Well Service, Inc.** P.O. Box 1979, Farmington, NM 87499 . 505-325-2627

Date: <u>8-//-</u>	Truck #: _2	4	_
Event: #1	From: p-p.w To: plsau #19	Hours	7
Start: 5./5	What: CLONN LOCATION & LOUGE HAVE TRASH OH	<u> </u>	1
7.15	TO CENTRAL DISPOSA- DONG	2	
Stop:	Charge to: NMOCD		]
Event: #2	From: 4/561/#79 To:	T	
Start: 7. 75	What: (LEAN LOCATION & LOVEL HAVE TRASH Off	1	1
	TO CENTRAL MISPORAL DONE		
Stop: 9.75	Charge to: NMOCD		
Event: #3	From: <i>USGV *BO</i> To:	T	1
Start: 9-15		12	
	TO CENTRAL DISPOSAL CONS		
Stop: //. /S	Charge to: NMOCO		
Event: #4	From: USGU # 93 To:	1	}
Start: //./5	What: CLESTULOCATION & LOVEL HAVE TRASH	12	<u>.</u>
	of To GENTENL DISPOSAL CONF	† <del>~</del>	1
Stop: //5	Charge to: NIMOCO		j
Event: #5	From: \$15GU # 35 To:		- 1
Start: /. /5	What: CLEAN LOCATION & LOUGH HAUR TRUSH OFF	1 3	
	TO CENTRAL DISPORAL DONS	<del>                                     </del>	
Stop: <i>3, 7</i> ≤	Charge to: NMO<0		]
Event: #6	From: /154U # 33 To:	T	<u> </u>
Start: 3.15	What: CLEAN LOCATION 5 LEVEL HAVE TRASH	1	(
	Off TO CENTRAL WISDOSAL DONE		> 2 ms.
Stop: 5.75	Charge to: UMOCO		ט
Event: #7	From: 4560 # 39 To:	1	ļ
Start: 5. 15		12	
	TO CENTRAL DISPOSAL DONE		j
Stop: 7.15	Charge to: UMOCO		
Event: #8	From: To:	T	
Start:	What:	1	
			1/7
Stop:	Charge to:		//1 d
			(+)/
Di 1/2 2	Driver: DUNNE GUSTIN	14	
Diesel: /6, ?	Helper Ezoyo Bogny	14	
Oil:	NM MILES: CO MILES:	<u> </u>	
Remarks:	4.7 Grises Ung 24		
	14 Graces BHI		
	NMOCO HSQU #33		_
			2 mg.
	Clean location		607
			2 mo.
L.,	Telan 2 lus.	RCI Form - 080158A	

# Mo-Te Inc.

**QUALIFIED WORKMANSHIP** 

P.O. Box 223 Farmington, NM 87499

Phone (505) 325-1666 Fax (505) 327-0336 Email:mo-te@acrnet.com Invoice

Invoice Number: 60304

Invoice Date:
Aug 10, 2004

Page:

Sold To:

A-PLUS WELL SERVICE PO BOX 1979

PO BOX 1979 FARMINGTON, NM 87499 Ship to:
MIKE HIGDON

Custom	ner ID	Customer PO/ Work Order	Payment T	erms	
A - PLUS		US 74245, 74247		Days	
			Service Date	Due Date	
				9/9/04	
Quantity		Description	Unit Price	Extension	
	HORSE SHOE	GALLUP #33			
	8-3-04				
	HOT OIL TUB	NG			
4.00	HOT OIL UNIT		78.00	312.0	
60.00	PROPANE PER	GAL	0.90	54.0	
				4366	
	HORSE SHOE (	GALLUP #39		A 360	
	HOT OIL TUB	INC			
4.00	HOT OIL UNIT		78.00	312.0	
60.00	PROPANE PER		0.90	54.0	
		6-	('/		
				*	
			· · · · · · · · · · · · · · · · · · ·		
			Taxabl	624.	
•			Non Taxab	1 108.	
			SalesTax		
			Dailor da	37/	

PHONE: (505) 325-1666 FAX: (505) 327-0336

# MO-TE, INC.

P.O. Box 223

Farmington, New Mexico 87499

74247

Company 🗸	A Y	LKS	u	154	· 5£	R.			Order N	0		<u>.</u>		
Address	<del></del>		<del></del>		<del>,</del>				Date 8	-5-0	4			
LEASE	WELL NO.	TUB.	CSG.	FLOW LINE	TEST TUB.	TREAT TANK	TEMPE START	RATURE FINISH	PRE START	SSURE FINISH	BBL.	HRS.	RATE	AMOUNT
HORSE SHOE GALL	7 39	1					20	250	150	150	50	4	7800	3/20
							PROT	ANE 9	64	1		m	TAX	1891
						60	GAC	Popa	150 0 8 690 2 47	904	46	Ac		54d
							_							
											-	1071	r.	3849
OPERATOR	Rer	narks	·							1.0	-)			
RANDY HELPER	Remarks:													
TRUCK NO.			<del></del>						·· <del>····</del>	· · · · · · · · · · · · · · · · · · ·			<del> </del>	·
#	Orc	dered	Ву _						Signed _					

### A-PLUS WELL SERVICE, INC.



P.O. BOX 1979 FARMINGTON, NM 87499 505-325-2627 • FAX: 505-325-1211

August 30, 2004

**CAVE Enterprises** 

PO Box 79 Flora Vista, NM 87415

Invoice #3438

Rig #9

For used tubing from **Horseshoe Gallup Unit** wells, located in T31N, R16W, San Juan County, NM.

This material was credited to NMOCD on the appropriate invoice.

### **Cost Summary:**

HSGU Well	Feet	Type and Size	Salvage				
#11	1116	36 joints 2-3/8" tubing	\$	0.80	\$	892.80	
#23	1147	37 joints 2-3/8" tubing	\$	0.80	\$	917.60	
#25	1333	43 joints 2-3/8" tubing	\$	1.20	\$	1,599.60	
<b>√#</b> 33 #33	1302 52	42 joints 2-7/8" tubing, NU S-/ pieces 5/8" used rods S-7	\$ \$	0.80 2.00	\$	1,041.60 104.00	
#39	1240	40 joints 2-3/8" tubing	\$	0.70	\$	868.00	
#39	50	pieces 3/4" used rods	\$	5.00	\$	250.00	
#19 #66	1178 1178	38 joints 2-3/8" tubing, heavy paraffin 38 joints 2-3/8" tubing, heavy paraffin	\$ \$	0.70 0.70	\$	824.60 824.60	
					\$	7,322.80	
		NM TAX Exe	mpt -	Resale			

TOTAL DUE \$ 7,322.80

**THANK YOU**